
(bqh-q<Ual0F-]9/5,

p.bptrutr

[IurutrurL1gnrd ffrL'

(urtr6tr udn r1n {fr tr u [u uqu h'

(urLdL urdnrln {fr utr 4u rltr bp'

(urLdtr udnr1n {fr pur p m n rrlu p'

Upiutruqpnplnft N 3

9( gtr prug ru t4 u nqh dngn U 
ph h utrdL udn rln {fr h rupn bpfr pru g tltutr Lr fr u un fr

u16> hnLlr.nbdpbp[ 201 9p.
dutlp 12:00

L. (n {u b{t1 rutr- rntrop bL I m brlu ! u 1 untr rn. hur p g bp I q6n {
U. ft {h rutrL fr u1 rutr - LLU F n n u m n n h uJ h tlr.u n ht

C. 91 n rltr ru qur ru uL - u nu2u Ln u n qh rn urZlu u m n rl

(. rlulurgutr- qtrnultr bp htu du l.lungnrl

(bqh-g<UaltP-l9/5,, 6ur6!uqpn{ ,lngnUph qtru.yfrtr unui2urpltrbpfr trbpllurlugduL,

qtrurhurmJtuL r-up4lnrLpLbp[ huumuudurtr /rlpgnLlpfr ruprynLtrptrbnh rutltfrn{rilrutr/ rftuu[rL.

$LulfrL unru2rup[1trbp qurpnLLrut]n[ 6purpLbpp u]brnp I pug{bhlr << qUU ubplprupurtrruLlurtr

qfrrnnLp.lntLtrbpfr JrLuunfruntu, 
rrlnUq-h 

2btrpnLd, p. bptrutr, U.Prur1purd1wtt24w,2-pr1 hupL1, 24

ubttlurQ huugbnnl 2019p. hn!ubtlpbp[ 16-[tr. d. 12.O0-frtr:

Ptutrfr np n1 dfr hu1r.n ltrbp!urpgr{bg huLdLurdnrlntlp npn2bg.

flpn2nrd - 19/5-3

. 9lrdtutr ptrptugrullupqp hulrnurnurnbl 1t1u1urgr.u6 hurdudr-u1tr' <$trnujLbpfr tluufrL> ((
opbLpfr 37-nq hn4{ur6Jr 1-[rtr durufr 3-p4 lbmfr:

CtrrlnLLL{b1 | npn2nLrl' Qnrltl-3, qbd-0

1-, [t u un [L Lr bp 11 ur h urlrdL u dn r1n {fr urtr 4ru dtr bp p.

(u[rdL urdn qn {[ L ur fuurqur h' L.(n{ubqh.lutt

ULrpurtlLbp' ftt{htuLtr[rultutr

D.9lnrltrurquplutr

(. nurlurgutrPurpunnrrl.up'



z
AJu

Ja
C

S
tr
5
5

5
J5
J5
c
d
J

5
d

J

J

J^

J5 [r)

cr=
3"1 g

=czJc-bi)=vv
=t IJtd
V .L)Vv

p
=tr- JICDS
af

-c

5E
<gJ3m:.\)P E''t

-3Jo_
CF
dcJ

J

S
J
J

i,

=J
=.L

-lu-E==EE5iJI=
JJ)-
JrOr

iJf
-J-="{fF
id+
LJj33
-]lh
FI=

l-J??s)
=.b{J

PEECJT



N
z
OJ

!

e
a
d
3

,

-c. e
cJg

o)=50
ac
dd
-,=

=cvi

(o

3
5
c,)
3
5

5
5
3

a2
3'b

ro t
g

0E-
I (!-
-c- =

3

$

-n o-r+oE e
L=c=
=J€ 

ce -.35

vg I

f r'+!!

E:{ s
\!€ i
=+==:5 6J5=11: E=J f C FE
s,-+ 91 3
iTxrE

l=c3

9-tp E
fEi e-a6q

-Y3 r=
E P+*
J JU J

(f)

\

o

c5
3
=g
c9
OH

t5

=*3dE3
{)
=ge=
o)c
=5
5v

I'

tr

3{

N

E
!

I)
s
3

.{c
3
o)
3
J

- -El

E=JC
d
3
{c
3)
=

3
:) /



(Y)

z
o,u

.!q €
=-5cJ e.
a r 

-c e

I =o:J f,
E=55J
c? €

Egc'€c=
€o
:!C
cedcr
F]
fc\/ =

(o

3-o)
3
5
f

.l:,
s
3

e
3.b lr)

Q

3€
D3:f

3

$

5-

=T 
OJY€E g

=5€ ce -,=sE =- =
c Tc-:
:v.5I+-o_E ef *
s 5 +Ff +:aQ-
c-! C

\!€ I
=+-=^J 6;J5gJ 3= e5

J ] E 
=5o+ol5:l

!!! tr
J- !:

-!Yf
f e-e:36:
o)= +s
E p--P
J+T X
J 5a f

e
cE
3

-A

Jd

fg
g)E
ls
5v

!
E

3,{

\

\

N

I

t

L
.l:,
s
J

rc
3
J
o)
3
J

.l:l

ct

f5
=EJ-\f

3
E.

d
J

.{c
3
=
3

3
J

\

I \

\

I

J


